Chem. 6A F2007 Dr. Mack Name: \LE)\/—-

Quiz 3: 15 points
1. (3 points) How many square inches (in”) are there in 0.523 square meters (m*)?X{ in = 2.54cm)
-2 fv $f Fepu
2
0523 i’ » '° o

,s4aw

1S T o S, o g B D25 (0 (557)

SQIREE ™ Convevsian ferow s
2. (4 points) Classify the followmg as a metal, non-metal or metalloid.

a) sodium V\ff}“&l b) sulfur f\t{)mwM%‘” 4 ‘ ‘ \( +

¢) carbon Npvi- et | d) cobalt Me 4a_ {
3. (3 points) Fill in the chart below with the missing information. =1 /
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Isotope Atomic number Number of neutrons Mass number
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4. (2 points) How many oxygen atoms are there in 3.5g of elemental oxygen? (N, = 6.022 x 107)
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3.3 pomts) How many grams of nickel will have the same number Ea’toms as 6.01g of iron?
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